3-217-488-01(1)

SONY.

In-Ceiling Bracket
EIKRNT R TR
Installation Instructions
ZRIGPE

YT-ICB45

Sony Corporation © 2007 Printed in China http://www.sony.net/

M4 screws / M4 12 %2

KR 9227 %= 231 7L

Ceiling /" 5 557 16 231 (9 10 9 '/s) hole /  Ceiling /

RIEMR

Fixing
plate /
I 7 H

10 to 35 ("¥/a2
to17/1e)/

10 £ 35

Fixing
plate /
] % #

Ceiling: ¢ 227 to 231 (9 to 9 '/s) hole /
RAEMR - 9227 % 231 L

Thickness of the ceiling:
10t0 35 ("¥a2t0 1 7/16) /

FACHRAIERE . 10 £ 35

/

11 ("/1e)

- 4/
EQ%’JL\

Unit: mm (inches) / #417 : mm

54 (2 /) 100 (4)

¢ This installation should be made by a qualified service person
and should conform to all local codes.

¢ Ensure that the installation location and its material are strong
enough to withstand the gross weight of the camera and the In-
Ceiling Bracket, and then install the camera securely. If they are
not strong enough, the camera may fall and cause serious injury.

¢ To prevent the camera from falling, be sure to attach the wire
rope supplied with the camera.

¢ If you install the camera at a height, check periodically, at least
once a year, to ensure that the connection has not loosened. If
conditions warrant, perform this periodic check more frequently.

* Check that the thickness of the ceiling is from 10 mm (*¥/,,
inches) to 35 mm (1 7/16 inches) inclusive.

* Make a 9229 + 2 mm (9 /s + '316 inches) hole in the ceiling.

* Do not scratch your hands on the sharp edges; this may cause
injury.

» Before attempting installation, wear gloves to prevent injury.

The YT-ICB45 is an in-ceiling bracket designed for use with Color
Video Cameras. It is used when the body of the camera is embedded in
the ceiling, or with gypsum or plaster boards, where the quality of the
material used in the ceiling makes it difficult for ordinary screws to hold.

Installable cameras

| Color Video Camera | SSC-CD45P, SSC-CD47P, SSC-CD49P

Installing the In-Ceiling Bracket

1 Make a @ 229 + 2 mm (9 '/s + '¥/16 inches) hole in the ceiling.
Use the supplied template. The four slotted holes on the template
are usable when you decide the center position of the camera.

N

Remove the dome casing from the camera.

For details, refer to the Installation Manual or the Operating Instructions
of the camera.

Connect the cables to the camera.

W

Remove the screws from the left and right side brackets (2 screws
ﬁch) and fix the removed screws in the lower screw holes. (Fig.
aY)

Using the supplied M4 screws, attach the In-Ceiling Bracket to the
camera’s unit casing or to the bracket supplied with the camera.
Attach the camera’s unit casing to the In-Ceiling Bracket using two
M4 screws. (Fig. [E])

For details, refer to the Installation Manual or the Operating Instructions
of the camera.

When attaching, align the center of the hole on the In-Ceiling
Bracket with the center of the bottom of the camera or the center of
the bracket supplied with the camera. The cover of the In-Ceiling
Bracket may not be attached if the centers are misaligned.

(3]

(o2}

Be sure that the right and left fixing plates of the In-Ceiling Bracket
stay in the lengthwise position (factory setting), and install the In-
Ceiling Bracket with the camera on the ceiling. (Fig. [8)

N

Tighten the left and right screws of the In-Ceiling Bracket to secure
it to the ceiling.

As you tighten the screws, the fixing plates swing outward and
lower to grip the ceiling. (Fig. [B)

Be sure that the fixing plates grip the ceiling firmly.

Torque the screws to 1.47 Nem (15 kgfecm) or less to tighten them.
Tightening the screws too hard may cause damage to the In-
Ceiling Bracket.

(o]

Remove the slit cover, and adjust the shooting direction and range
of the camera.
After the adjustment, replace the slit cover.

For details, refer to the Installation Manual or the Operating Instructions
of the camera.

©

Attach the dome casing to the camera’s unit casing.

For details, refer to the Installation Manual or the Operating Instructions
of the camera.

10Attach the cover of the In-Ceiling Bracket. (Fig. @)
Attach the cover while turning it so that the projections inside the
cover are inserted in the bracket, and tighten the two screws on
the cover.

Removing the In-Ceiling Bracket

Loosen the two screws on the cover and turn the cover to remove it.
Loosen the right and left screws of the In-Ceiling Bracket until the fixing
plates swing back lengthwise. Then remove the In-Ceiling Bracket and
the camera.

* Remove the cover vertically.

* Torque the screws to 1.47 Nem (15 kgfecm) or less to loosen them.
Loosening the screws with excessive force may cause damage to the
In-Ceiling Bracket.

* Hold the camera while loosening the screws; otherwise the In-Ceiling
Bracket and the camera may fall.

Specifications

Mass
Dimensions
Supplied accessories

Approx. 850
See Figure &
Template (1), M4 screws (4),
Installation Instructions (1)

(11b17 0z2)

B
X+

H
=]

o RREDFIEHEZ WA RBITHAFS LA .

o WHBRREMEREMEE EBREERZRENAMERBRANRES R
MEER  REBFERERGN . MRBERE . WRGH TR
ERTERMARSG-

o ARTIERGNIEE . BIUEERGIM ARG .

o MRBHITEESL  FEPRE  BFEEL R, UREBERLER
. MREHRY . BENEEHRE .

S+ ==
~

o WERERMWEEESE 10mm = 356mm Z[d.

o EXRR EFT—1 @229+ 2mm KIFL -

o VIMLEMFHENILEIE ; TNTEESERGE -
o BRREZH . FEHLELFEWLEZ G-

YT-ICB45 &% Mt & KB BEHLAE A M1 8 BRige A 238 028
YEFHEH N S i AR - B7E A B SURIBE M, RIEHR
R AT B2t DL B 2, i {ef ) e S22
TEEBEG
BTN

i

| SSC-CD45P, SSC-CD47P, SSC-CD49P

RRFIRBAREKZR

1 wxiwmlar— 0220 2mm L -
i A I A AR 7R R EER DLAO T G B T L PSR I
P AL -

2 PR TR .
LEAI, i B DTG %A T (5 -

3 e

A 5r it G 2 BHE ) . IR IR
TRzl . (SIER)

O Y MA B, LRI T R (R DL B 9
st b SRR SN |
FIPIR M4 2 22 R SRR ML B AN LA BRI A RS R b
(z0E R

RGN R ERIIN TR
A 15 2 DR IR VLY %5 T B (/Wi 75 -

E3
o RS, 5LERE AR b TLA LA HE B LR B oL
LIS 22 B+ R PP LA AT R TE T 2% BR i A 22
L T .
T R R A 208 B e A F AR ()
5 R 25 T LA BRI A 2055 S 2 R AR L
(ZIEE)
PR S B R R A RO L
RPN . [ B VR TR, LSRR e 00 -
(z0E )
DRI E R TN
B3
W 1,47 Nem SRS /INIOHLRF SR, . 082245 (5 0T A 2 B0
BRI\ 245
R TEIE . T SRR AT -
VAT i T LI
PR, 7S I G 25 AR T 7 73«

O s BB L
PEATIDY, 5 P LG 25 T S T 05 -

10 e s vz y. (e @)
EEENDAE L T (i NG A, AR T
R .

PFEFIRBRN TR

M7 E MR zz, AR EhEE IR T - FATFFERiR N 36258
%gfﬂ?ﬁ HEEEREBEETTH - SRR T FERiR A 2R 5
.

EX
CREEIF T
* f#H 1.47 Ne-m sl TR TR 22 o FATT AR 22 0 K] RE 25400
SR BRI N 2SI
. I’éﬁﬁ%ﬁﬁ%iﬁ?&%@i‘m T BR R A 224 SRR L T RE 2
o

B %y 8509

Rt & @A

Bt 1 R (1)
M4 1242 (4)

2RI (1)



